PAGE 1 OF 5

ASSEMBLY INSTRUCTIONS

HOPPER
S TUDI O

PRODUCT NAME : Sofia Nightstand
DIMENSIONS » 22"L x 15.75"W x 25"H
ITEM NO. :  7180BKO04AUX00

1. Check for damaged or missing parts . Call 1-800-696-8446 to order missing supplies.

2. Use a soft surface or the carton as a working surface to prevent damage during assembly.
3. Itis recommended to have 2 adults on hand for assembly.
4. Gather all tools prior to assembly.

5. WARNING! When included, anti-tipping hardware MUST be installed for your safety.

QUESTIONS? Call 1-800-696-8446, or email cs@ptsamerica.com © 2019. PTS America, Inc. All rights reserved.



PAGE 2 OF 5

PARTS LIST: QTY
A Frame Metal Leg 2pcs
B Top Rail Leg 1pc

C Bottom Rail Leg 1pc

D Box Body 1pc
HARDWARE: QTY
E | Flat Head Machine Screw @1/4" x 1/2" @)))))))} 8pcs
F Flat Head Machine Screw @1/4" x 3/4" @)))»)»»»m)» 6pcs
G | Lock Washer @1/4" @ 6pcs
H Flat Washer @1/4" 6pcs

P
[ Allen Wrench @4mm \% 1pc

QUESTIONS? Call 1-800-696-8446, or email cs@ptsamerica.com © 2019. PTS America, Inc. All rights reserved.



PAGE 3 OF 5

QUESTIONS? Call 1-800-696-8446, or email cs@ptsamerica.com © 2019. PTS America, Inc. All rights reserved.



PAGE 4 OF 5

STEP 3

STEP 4

L~

QUESTIONS? Call 1-800-696-8446, or email cs@ptsamerica.com © 2019. PTS America, Inc. All rights reserved.



PAGE 5 OF 5

Note: adjust levelers on an uneven floor.

A"

QUESTIONS? Call 1-800-696-8446, or email cs@ptsamerica.com

© 2019. PTS America, Inc. All rights reserved.





